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MATHS

BOOKS - RAY AND MARTIN MATHS (BENGALI)

QUESTION PAPER 2007

1. o 9T QBB Sea AT T@ a? + a + 1 = 037 o« 8! qififeg

RIBES]

Al


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UT3enyIc2wZB

Answer: C

° Watch Video Solution

2. 12 T 71 3G feq sita it @itz 94T Sitad 316 I ABIF TRIGAT

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UT3enyIc2wZB
https://dl.doubtnut.com/l/_95XGe7r9xI09
https://dl.doubtnut.com/l/_FEtFMO3XnFJw

3. axty+z = 0, -x+ay+z = 0, -x-y+az = 0 TP IIRfAd IS (0,0,0) BIGH

AP IM 2-a7 IBI JI7 27

Al

C.3

D.O

Answer: D

o Watch Video Solution

4. n € N a3 7del @I TAT (3 x 57 F + 2% +1) seunfe @

SATATD OIS ST FIdT (TS 2T ©f e

A 17


https://dl.doubtnut.com/l/_FEtFMO3XnFJw
https://dl.doubtnut.com/l/_8jlDBl6bzsXx

B.19

C. 21

D. 23

Answer: A

o Watch Video Solution

5.A 8 B 93 7fb ToAl(events) @YU P(A°) = 0.3, P(B) = 0.4
9RP(AN B°) = 0.50iaa P(B/A U B%) 2@

A.0.9

B.0.25

C.05

D.0.8


https://dl.doubtnut.com/l/_8jlDBl6bzsXx
https://dl.doubtnut.com/l/_SyUufIjos1Zy

Answer: B

° Watch Video Solution

1+
1—2

6. (@IS (amplitude) 2@

A ——
2

o N
o3~ |3

Answer: B

° Watch Video Solution

7. f(z) = sin” (|Jz — 1| — 2) THHDIbJ NGIF WL 201


https://dl.doubtnut.com/l/_SyUufIjos1Zy
https://dl.doubtnut.com/l/_9zDLWGK6V077
https://dl.doubtnut.com/l/_QF3bvxzuWDM9

A[—2,0 U2 4]
B.[—2,0] U1, 3]
C.[—2,0]UJ3,4]

D.[2,0] U [2, 4]

Answer: A

o Watch Video Solution

8.3 (1 + z)*" @ x -97 FIILTN Yo TR BT Bl 2T, O
<13 2415 d MRSIBfAT (IstHeT 2@

A. 246

B. 2%

c.2%

D. 247


https://dl.doubtnut.com/l/_QF3bvxzuWDM9
https://dl.doubtnut.com/l/_M9tJyuE7AC0u

Answer: A

° Watch Video Solution

9.2 + (3 — Nz — A = 0 I545d 7o A1 a 8 B 20T, \aT @
JIAT SAT o + B2 -93 F7 fAFey 2w, oift 2o

@
ol ©f -

D.O

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_M9tJyuE7AC0u
https://dl.doubtnut.com/l/_fmtYSkz8F7GB

10. y = 3z ARG az® + 2azy + 9> = 0 HARIGEI

TGO (DIIBD FAGLEE AW W a-d FI 27

A2—,/3
B.2+ /3
C.2¢/3+3

D.2,/3 -3

Answer: D

° Watch Video Solution

11. (T TAJ(EJ OAIGHT T ST Td nd(gd N1 ©I7 S0l 2e1
s

>

@
W= N



https://dl.doubtnut.com/l/_O8z5zcyTljRm
https://dl.doubtnut.com/l/_F9k6Tc3Awh8l

N

o

Sl sl-

Answer:

o Watch Video Solution

12. 22 — 2% = 2 9] @ =IO 2x-2y+5=0 @I TAIAeAT

OId TAIPIT 77

A. y=2x+1
B. y=2x-1
Cy=z=+1

D. 2x=y

Answer:



https://dl.doubtnut.com/l/_F9k6Tc3Awh8l
https://dl.doubtnut.com/l/_eZ7XreTIlLmb

I & Watch Video Solution ]

13. 441 TR, f(z) = z|z|, T T RO f(x) 7K CRPAAQIST ©IF
o766 2e

AV e R

B. Vz € R — {0}

C.Vez € R—{0,1}

D.Vz € R — {1}

Answer:

° Watch Video Solution

14. IM f(x+y) = f(x) + f(y) T TS BT x 3 y -9 AT A7 TN f(x)

T = /3 47308 Y Ol A


https://dl.doubtnut.com/l/_eZ7XreTIlLmb
https://dl.doubtnut.com/l/_0lNvZxf2N73n
https://dl.doubtnut.com/l/_ivGxWev7n38F

A f(z),z = — /3o 8ws 77
B. f(z), z = — /3 BIGI T JBJ [qv(o 5508

C.f(x),x=0 |ﬁﬁ(o B0 7Y

D. f(x) 8 18 f[Tv0 T03

Answer:

o Watch Video Solution

15. M @A KA y = 4z — 5, y? = p2® + ¢ TTRLE (2,3)

Ao = $EoR

A. p=2,9=7
B. p=2,9=-7
C.p=-2,9=7

D. p=-2,9=-7


https://dl.doubtnut.com/l/_ivGxWev7n38F
https://dl.doubtnut.com/l/_fN108hLTi1nD

Answer:

° Watch Video Solution

16. A 932 B P2 (TJ I5f FTIGE AT AB = 0 (A

A. A 8 B G&(¥ BIRIXIE(non-singular)
B. A B8 (non-singular) 932 B a8 (singular)
C. Afaf8(singular) 932 B B8 (non-singular)

D. ?7 A=0 Ot B=0 AT (el A 8 B S&¥R f[AfXI¥(singular)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fN108hLTi1nD
https://dl.doubtnut.com/l/_xEUhEq8DVvg1

17. W 222 + 42 + C = 0 fg9ie NP B FCFRL TS ol
I TTE3 >T17 27, o)

A. C=2

B.C=6

C.C=4

D.C=6

Answer: D

° Watch Video Solution

18. (PIF FIBI I51foq n SNYTH g (@ ISIHA I r SNYTH S

AISIB A I 2T, 61 o] @ 56 (n+r) M2YTH did (@ I5IHe 2@

A. n+r


https://dl.doubtnut.com/l/_9XXwZtXm9EB6
https://dl.doubtnut.com/l/_W7BEOjYSSHke

C.1

D.O

Answer: D

o Watch Video Solution

19. I f(x) = x(x-1)(x2), 0 < x < 437 6@ ﬁﬁ zt SIG FIAd
TAIMT(Mean Value Theorem) % S ©IF gl 2@
AlD<éE<l
B.(£ >3
C.0 1
O <éE< 5

D.1<¢< 3


https://dl.doubtnut.com/l/_W7BEOjYSSHke
https://dl.doubtnut.com/l/_GW9BXRWKEepw

Answer:

° Watch Video Solution

20.log, z = y 2, log, 1  -A9 HIN 2T

A ly

B. 1+y

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GW9BXRWKEepw
https://dl.doubtnut.com/l/_cejblAdSevQp

21. 3288 GHaIg aigoGHa @G 22 + 2y° = 8 TAJalbm 4

PJIAT I OIF 7R Al 2T

A 4,2,/2
B. 2,41/2
C.1/24
D. /24

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0g929bqCBN0B
https://dl.doubtnut.com/l/_LoiVROBGtxm8

Answer: A

o Watch Video Solution

23. (@13 fagod 7o A2 24/3 — 2 938 24/3 + 2 AT IR I
NfAfzo (@I TH 60° A TNT (HITSfAT TN 2@ LT
A.75°,45°
B.105°, 15°
C.60°, 60°

D.90°, 30°

Answer: A



https://dl.doubtnut.com/l/_LoiVROBGtxm8
https://dl.doubtnut.com/l/_vjve9S59phBy

I & Watch Video Solution

} d
24.y =1at x = 1, SN m,d—y:nyrymﬂmfr%a ST 2o
xZ

Answer: A

O Watch Video Solution

d
25. %(:clogx) + 2y = logz OIRIPA THIBINOI 9B6 THIDA

BIP(integrating factor) 27


https://dl.doubtnut.com/l/_vjve9S59phBy
https://dl.doubtnut.com/l/_PicRauOfVJaT
https://dl.doubtnut.com/l/_01FIu52PDriw

A. (log z)?
B. z°

C.logx

1
“logzx

D

Answer: A

o Watch Video Solution

26. fArfeIfiie [RGfonfera @IAfE erTer @ @IEAT 4fe BAl(event) A
932 B 99 GAT?

A.P(ANB) > P(A) + P(B) — 1

B.P(AN B) < P(A)

C.P(A°N B°) =1— P(AN B)

D. P(A) < P(A U B)


https://dl.doubtnut.com/l/_01FIu52PDriw
https://dl.doubtnut.com/l/_AzuPaU0I70XY

Answer: C

° Watch Video Solution

1 1.3
27. 1+ — +

2 e T s
qI 2T

A e
8 3

.26
2

C.ec—e

D. 20

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AzuPaU0I70XY
https://dl.doubtnut.com/l/_V8qxs2wEkQGx

28.79f6 foad f: R — R 932 ¢g: R — R fAxfeifido 43R Mewio:

1 0 =z ’
(god)(e) + (fog)(m) -9 WA Q@

o ={] 2 e ={," avwTa

B.1
C.0

D.2

Answer:

o Watch Video Solution

29, I TJBAET 22 — 20z + b = 0 ASHIT ATBAT TF A 38

22 — 2bx + a® = 0 NPT AT TP G 2T O


https://dl.doubtnut.com/l/_bT39efAAIN6V
https://dl.doubtnut.com/l/_BSLAzgmQPUZn

A. A=G
B.A > G
CG>A

D.AG = a® + b

Answer:

o Watch Video Solution

30. 441 TP y=a(l-cos theta), x=a(theta-sintheta), y (@ x -49

OIATH D A 5197 BJTeT, y 5T HIA(maximum value) JF I IYF
CREERAIGH

>
| 3

w
1
oy N



https://dl.doubtnut.com/l/_BSLAzgmQPUZn
https://dl.doubtnut.com/l/_nEwA0yHOQFIE

Answer:

o Watch Video Solution

+2
31.@%1:/ (2 — [2]}dz QI [x] THT JooT ORI S
2

Tl x SIS G 7Y, Y60 27, Of A | -99 Tl &

A4
B.2
C.3

D.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nEwA0yHOQFIE
https://dl.doubtnut.com/l/_CGpowOPq7WvD

32. ¢ = t* + 263 — 12t + 2t Y@ WU 9B IFIB x 6

A. (0,1) ST JIteT I4TH
B. t=1 [dv(© ba¥
C.t=1 ﬁﬁm Jqy

D.t > 293G B4

Answer: C

° Watch Video Solution

1
33. /—d:c -9d JiH 21
et +e 7

A tan !e®


https://dl.doubtnut.com/l/_CGpowOPq7WvD
https://dl.doubtnut.com/l/_ownaMMei3NHf
https://dl.doubtnut.com/l/_s1Sb23ZQb90w

B.tan"!e’ (2z)
C. log(ex + e_m)

D.e®* —e *

Answer:

o Watch Video Solution

f(2 - hr?)

UERAD)
2h?

34, 917 f(2)=1 27 ©late lim_ (f (2+h%) —

A.O

B.1

Answer:


https://dl.doubtnut.com/l/_s1Sb23ZQb90w
https://dl.doubtnut.com/l/_pPEKJS2BIz4u

° Watch Video Solution

35. 745 ST (fair) 25T (ISt 261| BIMA SHREARRR PIEIN eissferd

(57T 5 23T AN (probability) 2¢1

@ >
_ ©|
oo

n

O
Ol O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pPEKJS2BIz4u
https://dl.doubtnut.com/l/_IT4VaBuE8PvM

1 n
36. (:cz + —) IO T Tast BT [@ISIHeT 1024 20 n -9 FIA

Wi

W

A 12
B.8
C.14

D.10

Answer: D

o Watch Video Solution

37. f(z) = sin” !(Jz — 1| — 2) SAIHBI6 NI IB 2o

A[—2,0]U[L,3]

B.[ —2,0] UL 4]


https://dl.doubtnut.com/l/_J7UWrQGzE0Dp
https://dl.doubtnut.com/l/_GSdFsunVFTO0

C.[—2,0/U[24]

D.[—2,0]U[L 2]

Answer:

o Watch Video Solution

38. |z| + |y| = 1 J@E@YT G NG SIBETT GHaD 2

A2
B.4
C.6

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GSdFsunVFTO0
https://dl.doubtnut.com/l/_kSbGIu5Ndk3R

1172

2
39.(6,2)1%%(%?— yz = 1 9Ia T wfe =eafeg

YT

A.O
B.1
C.2

D.4

Answer:

o Watch Video Solution

40./ (logz)*dz -9 TR @
1

A e


https://dl.doubtnut.com/l/_kSbGIu5Ndk3R
https://dl.doubtnut.com/l/_BaT5UdZNSfKC
https://dl.doubtnut.com/l/_wG9KbNHtHzDY

B. 2e

C.e-

D. e-2

Answer:

o Watch Video Solution

41z_¢_15(az — 4"

B. 3i+3
C. 5i-5

D. i+1

Answer: A

-ad v



https://dl.doubtnut.com/l/_wG9KbNHtHzDY
https://dl.doubtnut.com/l/_QtcduLin3ysD

° Watch Video Solution

d%y d d?
42. IM (m,n) IS ——|—3( y) log< y> OIqhe]
dz? dz dz?

STHIBAAd Tiat (order) 932 qlo(degree) >i|b\9 PO (Mm,n)=........

A.(2,2)

B. (2,1)

C.(1,2)

D. (2,0)

Answer: B

° Watch Video Solution

dy T —y
43, = ag Mg 21
dx Tty



https://dl.doubtnut.com/l/_QtcduLin3ysD
https://dl.doubtnut.com/l/_gt3JRjlloksq
https://dl.doubtnut.com/l/_IXRbQvh8U6hA

Az -y’ +2zy+C =0
B.z’ +¢y —zy+C =0
Cel+y’+a2y+C=0

D.z> —y? —2zy+C =0

Answer:

o Watch Video Solution

44.ydx + (z + cosy)dy = 0 TNBIABI ALIFS TG

A. xy+siny= C
B. xy-siny=C
C. x+ycosy=C

D.xy + cosy=C


https://dl.doubtnut.com/l/_IXRbQvh8U6hA
https://dl.doubtnut.com/l/_t4x2i7tra7Z5

Answer: A

° Watch Video Solution

45, 'TRIANGLE' X=4f6d II3fer fATg Ipat b1 TRIRT X127 194 Hat
26| (T ABTET 9T I A 932 CIF I N BT YTt 2@

A. 120

B. 720

C. 1680

D. 60

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_t4x2i7tra7Z5
https://dl.doubtnut.com/l/_2KhFAkIkeM6h

46, 956 TPIT BdTad Ao 94T 99 'a' 932 @Ned J1F 3 20, 'a
T AP ARPE G167

Aa< —1

B.a >9

CO0<a<®o

D.-6<a<0

Answer:

° Watch Video Solution

47. IW n 9B  gfrednt = aR n>1 ©f TS
a—"c(a—1)+"c(a—2) +...... +(—-1)"(a—-n) 93 TF

EIG)


https://dl.doubtnut.com/l/_aB8vq6lsWjpk
https://dl.doubtnut.com/l/_5rs1nkOSEfHf

D.1

Answer: C

o Watch Video Solution

48.y = f(z) = 2% — z + 10 EAHIO

. ,
A. g,a] BT SHILHA

[ 1 2 ,

B. | — g, g] OB I
B - )

C. |5 o| OB SHALAIA
"1 -

D. |5, | TVBIET PHIPRIN



https://dl.doubtnut.com/l/_5rs1nkOSEfHf
https://dl.doubtnut.com/l/_PnkeeCwPT0zU

Answer:

° Watch Video Solution

49.3M f(z) = pz — sinz IVY SIILHA(strictly increasing) 2T
[UIG]

Ap> —1

B.u<1

Cp>1

D.u< —1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PnkeeCwPT0zU
https://dl.doubtnut.com/l/_pjy9t3KJV3r9

50. A 932 B G a2 »(d I5f TGS (T7 AB = B, BA= AT | BIH

TEE A I A2 = A TS5 TF d@ ol Jsfeag

(idempotent) JeTT Y| ©F (T WITHAT JeT(o AMfa

A. A FTIHID AT (idempotent) f&g B AR
B. B Jisfdd(idempotent) &g AR
C. A 932 B (BIABI2 Jisidd(idempotent) AR

D. A 932 B G&(¥2 Jisidd(idempotent)

Answer: D

° Watch Video Solution

5. 9 x 932 a JIBI 2 ©W@ a -99 @ HEL TAT

3 )
— (;)erl—aZZTﬁT%. ST 4ATaI<b 2, ©f 76T


https://dl.doubtnut.com/l/_XGzqEQ5UQi1i
https://dl.doubtnut.com/l/_I57paRTJmxi3

Aa> —
@ %

Ba< — —
@ 2%

C.|a| >

o o

D.|a| <

Answer: D

o Watch Video Solution

52. @ oA Afgqad NI (1,2) o 9R oFF x -OIGHd

THIBAT MA@ I OTd TSP TP 2T

A.Q@(a: —1)=y—2
dx
In n:
t
dy 2
C. <%> — 3zy =
dy


https://dl.doubtnut.com/l/_I57paRTJmxi3
https://dl.doubtnut.com/l/_IRiXuYjGBS0A

Answer:

° Watch Video Solution

, d
53. y=1 YT x=1 -92 OAACH d—y = zy + 2y TAIBIIOI A
x

W

B.1
_ 27 2
C.y: e2a:+a:2 e 3
_ 27 5
D.y = 2r—x2 | g
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IRiXuYjGBS0A
https://dl.doubtnut.com/l/_wxQC12j7OJ3X

54, 9 26 T 47T YN JHIRYTIT (FIsIHeT @

A. 262
B. 26°
C. 26

D. 26°

Answer: A

° Watch Video Solution

55. 497 JIm ¥M yo oaw d@fXZ, 8 Z, [ T

|Z1 + Z5| = | Z1| + | 2| ?Q, O1 A argZ, — argZs W

A.O

_ _0
BK =e AG-3T


https://dl.doubtnut.com/l/_QVtJfu3cWDHd
https://dl.doubtnut.com/l/_E4SyvwF0Zmpu

Answer: A

o Watch Video Solution

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_E4SyvwF0Zmpu
https://dl.doubtnut.com/l/_nSpJpSuu83I7

57. M (1 + J:)2n-£]§1' [Bfote fFoly, voiy 8 e dmd Nesisfe

THAIBJ 51feTo(A.P) AP ©19, n -a9 TN 2@

[C N S Y VT Y IEN

o
w

Answer: A

° Watch Video Solution

58. a6 BB 4900cm / (sec) SO O TFFS Il el

ERAIR T O 30t @ wWe ofosd I

<g = 980cm / (sec)2)GTQ_o'f


https://dl.doubtnut.com/l/_nSpJpSuu83I7
https://dl.doubtnut.com/l/_BHBIJWCtnEqr
https://dl.doubtnut.com/l/_QpStqcwQIGR5

A. 490cm

B. 60mins

C. 980cm

D. 400cm

Answer:

o Watch Video Solution

59. sin( — 300°) -93 ¥l 2

N

o

Sl el T oGl


https://dl.doubtnut.com/l/_QpStqcwQIGR5
https://dl.doubtnut.com/l/_DCFXfvs0h5XG

Answer: C

° Watch Video Solution

d
60.d—y — 7Y 1 1 OIP TP AT
XL

Ae V=zx+c¢
Yy

B.x = —
T3

Cef V=y+c

D.eY7*  =y+c

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DCFXfvs0h5XG
https://dl.doubtnut.com/l/_1McGV1FYanuB

61y = z° AR y = 22? IGRYITEI T NIRG ABET GHaHa

)

N = w|

Answer:

° Watch Video Solution

62. 30km / h 932 40km / h @St 75 SHfS 7fb 41 o717 A 47T

GoIdt I A8t 7fbd (@nfdv (AP 9B T Tial OIFE I ©f @

TItid 9B T8N 2 3T


https://dl.doubtnut.com/l/_xqljZgXdEqFA
https://dl.doubtnut.com/l/_v3ak6V6OriqX

A. 35km/h
B.4.56 x 10%
C.10 km/h

D.5km /h

Answer:

o Watch Video Solution

) 1 —coszx
63. lim ———— 9JdIN 2
z—0 2


https://dl.doubtnut.com/l/_v3ak6V6OriqX
https://dl.doubtnut.com/l/_AIIHdYmb7w35

Answer: A

° Watch Video Solution

2 3
64. M TIGH A = [5 _2]5.8615(?[/1_15(‘4'

1
A——A
9

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AIIHdYmb7w35
https://dl.doubtnut.com/l/_NVeyCTQdAiZJ

65. x 99 (T HAI GAT logy(5 - 2° + 1), log, (2' 7 + 1) Qe 1

NHIBT 1ot (A.P) ABE 6 2e1?

o Watch Video Solution

66. 935 ST 7 P 9FAGIT SN (@ (a,0) 932 (-a,0) 79 %G

(ATD BT~ [Ivd g J6I7 AT Imi2b? | P g IR 2@
A z? +y? = b + d?
B.z2 +¢y% =b> —a?
C.z? —y? =0 — d?

D.z? — y? = b* + a?

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Gvc7V9lO20hI
https://dl.doubtnut.com/l/_WkbJCvhCyPzI

67.9M 22 + o? = 8z + 6a THHIIBI ICHY IBI 27, O @HIAG
STfH®?

C—-2<a<8

D.-2<a<8

Answer: A

° Watch Video Solution

68. Tm W J@ i+ +20r+2fy=0 QI

2 +y? 4+ 2¢'z + 2f 'y = 0 TP TANS = B of A

A ff = gg


https://dl.doubtnut.com/l/_GqlRRncw3owW
https://dl.doubtnut.com/l/_3P4Rnzo9cp4X

B. Fe 4 mg
C.f2+f’2 =g2+g'2

D.f2—|—g2=f'2 +912

Answer:

o Watch Video Solution

69. (T fI9(o y? = & ISIIT TIT BB x -AEHA T 45° @I

P, OId B 27

A.(0,0)

B. (1,1)

1

c 1
472

D. (2,4)


https://dl.doubtnut.com/l/_3P4Rnzo9cp4X
https://dl.doubtnut.com/l/_NLgNS2AhpIGR

Answer: C

0 Watch Video Solution

T

1 2
70. lim (1—|—;> ad did4 21

T — + o0

Answer:

o Watch Video Solution

71.%"p,, -a3 A T 2@


https://dl.doubtnut.com/l/_NLgNS2AhpIGR
https://dl.doubtnut.com/l/_xjDpWEU29pQ0
https://dl.doubtnut.com/l/_lselCMMxlgov

A (n)! x (*"c,)
B.O
C.n! x (2"+1cn)

D. n! xx ("*(2n+1)c_(n+1))’

Answer: A

o Watch Video Solution

72. 90 z = sin” (), y = log(1 —¢7),0 < t < 127, O A t =

d2y
1/3 a9 GAT — -Qd dIH 2@

dzx
A9
"4

B. PIIIITIA 2T SiC


https://dl.doubtnut.com/l/_lselCMMxlgov
https://dl.doubtnut.com/l/_V6MUK00qQNrj

Answer:

O Watch Video Solution

73. ToATG gef TeUTIT FuILHIN AT A| ST BTeitaq d5ifoq Hrod
S1eTIfB 2eT
A.3
B. BITIal 8 51 AW wifosa uaBd IS FeAhA BT -
C.5

D.7

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_V6MUK00qQNrj
https://dl.doubtnut.com/l/_P3rR42VtIgyl

74. f5Af6 Bitag gIat FIDASIE aFH SHfHfES I TFIYA AT

SNEIIAT IS 1/3, 1/4 932 1/5| THTI5d NAILIN 20, ©IF TRIRAT 2T

Answer: C

° Watch Video Solution

75. A 3 B a36 Mfdd o6 U a7 THACIHD AR
n( U) = 800,n(A) = 300, n(B) = 400, n(A N B) = 100. A° N B¢

oT6{Bd TAMIA SIUTT (hnumber of elements) 267


https://dl.doubtnut.com/l/_dw7ajLGsv2dC
https://dl.doubtnut.com/l/_YvNYxW77cLIa

A.100

B. 200

C.300

D. 400

Answer: B

o Watch Video Solution

76. > + y2 = 17201 x+y a9 SIS ( maximum) JiF

A. /2

B.3

1
C.—

V2

D.2


https://dl.doubtnut.com/l/_YvNYxW77cLIa
https://dl.doubtnut.com/l/_w5Lm9bfT4Krx

Answer: A

° Watch Video Solution

77. 931 TP, f(z) = a®(a > 0) TEHTHIIOE f(x) = g(x)+h(x) A
@ 3 @A g(x) 9B I TEHFD 9R h(x) 9B6 YN
WATHD| Bl g(x+y)+g(x-y) 99 I

A. 2g(x)g(y)

B. 9ANTSHIEA (GG

C. 2g(x)

D. g(x)h(X)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_w5Lm9bfT4Krx
https://dl.doubtnut.com/l/_Jhlc3AYKBSbg
https://dl.doubtnut.com/l/_UYAcsY28WTwq

—7 0
78.9M A = [ 0 i]@ATAW
A1l
B.CH3—0+H2
C.A
D.-A
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UYAcsY28WTwq
https://dl.doubtnut.com/l/_3YYPhHo9qWrh

o
®
o=

Answer: D

° Watch Video Solution

w/7
80./ z°% sin® zdz 9T TH 7
-7 /7

A O
B. GI& fafa gl

C.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3YYPhHo9qWrh
https://dl.doubtnut.com/l/_HYqB1dOH8oGK
https://dl.doubtnut.com/l/_bdVMw8oRXzcq

1 1

Answer:

O Watch Video Solution

82.y> = 12z, z = 0 93¢ y=6 Tl NI% GHad GHaHal 2

A. 12
B. RCONH,

C.3


https://dl.doubtnut.com/l/_bdVMw8oRXzcq
https://dl.doubtnut.com/l/_6DEBxFGO46pj

D.6

Answer:

o Watch Video Solution

83. IM m 932 n IVHT AFB TGP MNP Flgi(order) 932

e
dy \°|° d?
a + <_y> = b—y
X dz?

qo(degree) -@ OO IE, OK

STHIBINBI GHta (m,n) 99 T 2@

A.(1,7)
B.Zn — Hg/HCI
C.(2,5)

D. (2,6)

Answer:



https://dl.doubtnut.com/l/_6DEBxFGO46pj
https://dl.doubtnut.com/l/_MBy9aQuJjsl8

o Watch Video Solution

84. AFf6 I x-BFF IARG aFS e T t OPS AW@ a7 JAd

s = 33 — 282 | T TOTHT AT x-ACH T E O3
A<t < >
' 2
B. C4H3Oy,
C-<t<l

D.O<t<1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MBy9aQuJjsl8
https://dl.doubtnut.com/l/_RwhPIe9ggCGy

85. 441 AP aBi6 &ten oad I.: S — S -@ fAxfaiioei@ Jegs!

3T oW : I,(z) =z Az € S, A IME f: A — B a6 5D

— c =Y

TAfdfbad (bijective mapping), @ fARfIRG fgfosfad @G

JoT7?

AFIOf # Iy fof ' =1Ip

B. G211 IHIHD
C.flof =1Iy fOf =t # Ip

D.f10f # Iy fOf =t # Ip

Answer:

o Watch Video Solution

—1
86. AM z=x+iy 97° arg(%) = % o, Of A (xy) f[A9d

ABIIAY Q


https://dl.doubtnut.com/l/_AG41Upi39HoI
https://dl.doubtnut.com/l/_VIpD5gBybAAN

A. GSJ3

B. (BIAIB2 A7
C.J3 TI9 &% (0,1)

D. 33 II7 &% (1,0)

Answer: C

o Watch Video Solution

87.y = ae'® 4 be ¥ IHFHB T ORI NSNS 1% B ©f 21

2
Yy
A — = 16y
dz?


https://dl.doubtnut.com/l/_VIpD5gBybAAN
https://dl.doubtnut.com/l/_jk0Drw10GeWk

Answer: A

° Watch Video Solution

88. (PN IFPI 9B6 THARYIE 97 sifofied T @IH Pro t -© P
P15 sifoEst 2 -a7 Sidifod| of 2t F16a gad fAEI @A
I ST STHIASAED = ?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jk0Drw10GeWk
https://dl.doubtnut.com/l/_tWivtnJwf4OX
https://dl.doubtnut.com/l/_OKQiMGWyVNwf

89. [-3,3] (@ MHIPAAWIST WHEFD f(x) -99 TAT @G 552

3
/ f(z)dz = 0 TYA f(x) T
~3

A. OIS A% P(odd function)
B. YU AIATH B(even function)

—~ —~

C. (PJe1qla fararafiafed araisad ( trigonometric functions)

D. @ (P4 OIAEH D

Answer: A

° Watch Video Solution

90. v’ =2z + 1 |YI3 8 xy = 1 KARYT I ARG GH@d

GPape] 21

. 16
3


https://dl.doubtnut.com/l/_OKQiMGWyVNwf
https://dl.doubtnut.com/l/_1a8bgQmpOGK7

Answer: A

o Watch Video Solution

NIMYL I + y? —dre — 2ry + 42 =09 22 +9° = 25
ST = FE OW r (@ TNBIIS A BF I, ©f 27

Adr? +10r +£25=0

B.5r% +10r 16 = 0

C.4r> +10r +25 =0

D.4r> £ 10r — 25 = 0


https://dl.doubtnut.com/l/_1a8bgQmpOGK7
https://dl.doubtnut.com/l/_FvVsBsNaJjkd

Answer:

° Watch Video Solution

92.6cos a + 8sina + 11 99 TpU0H Fl4 27

A.O

B.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FvVsBsNaJjkd
https://dl.doubtnut.com/l/_c8weltR9kHrP

93.22 + z + 1 = 0 TPAR G A1 a, B TA a*f? —a 1571

a3 qdlv 2@

B.1
C.0

D.2

Answer: C

° Watch Video Solution

0 3 0
94.14:[4 S]elzrekA:[ AT k,a 3 b $ISBfAI TN

a
3b 60
YT 2@

A. 129,16


https://dl.doubtnut.com/l/_VIDZPKmNKNqB
https://dl.doubtnut.com/l/_rQK7qOiIchnL

B. 912,16

C. 12,915

D. 16,9,12

Answer:

o Watch Video Solution

axr

QS.Wa?Erf(m):x+l

cx # —1 'a -99d @ JIET GAT
f[f(x)]=x 2(d ©f 21

A. /2

5.~ (v3)

C.1

D. -1


https://dl.doubtnut.com/l/_rQK7qOiIchnL
https://dl.doubtnut.com/l/_Wpzf8YNprMm9

Answer:

0 Watch Video Solution

96.IM z € [0, 6] ©T A 2 — 7z + 10 > 0 I NEIIAT 2eT

@ >
I N O

n

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Wpzf8YNprMm9
https://dl.doubtnut.com/l/_iEba9r4cU13Y

97. ¥ B f(z + y) = f(z) + f(y) Vo, y € IR 93 f(6)=5 932
f'(0)=1, ©IRCeT f(6) -a9 JIH 2T

A.25

B.30

C.1

D. 36

Answer:

° Watch Video Solution

98. (B3 fagiod ITBIAT TFATG 4:5:7 T fagsid TR 2@

A, TIBIST

B. SFRICHITH


https://dl.doubtnut.com/l/_P08SlM1oqPke
https://dl.doubtnut.com/l/_eB5n5ePuig97

C. BeTIq

D. I e faars

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eB5n5ePuig97

